Election Summary Report

Date:07/18/08 Time:12:59:16 Page:1 of 4

Dawson County State of Georgia General Primary July 15, 2008 Summary For Jurisdiction Wide, All Counters, All Races Official and Complete

Num. Report Precinct 10 - Num. Reporting 10	100.00%
REP	
Total	
10	100.0 %
10	100.0 %
2551	
2551	100.00%
	REP Total 10 10 2551

US SENATE-D	DEM		
	Total		
Number of Precincts	10		
Precincts Reporting	10	100.0	%
Total Votes	190		
DALE CARDWELL	47	24.74	4%
VERNON JONES	11	5.79	9%
RAND KNIGHT	32	16.84	4%
JOSH LANIER	11	5.79	Э%
JIM MARTIN	89	46.84	4%

PSC EVERETT-R	REP	
	Total	100.0
Number of Precincts	10	
Precincts Reporting	10	100.0
Total Votes	2460	
RICK COLLUM	889	36.14
H. DOUG EVERETT (I)	1571	63.869

PSC SPEIR-R	REP	
	Total	
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Total Votes	2438	100.0 %
PAM DAVIDSON	1158	47.50%
LAUREN W. MCDONALD	1280	52.50%

PSC SPEIR-D	DEM
	DEM Total 10 10 100.0 9
Number of Precincts	10
Precincts Reporting	10 100.0 9
Total Votes	152
BOB INDECH	35 23.039
JIM POWELL	117 76.979

US HOUSE 9-R	REP	
	Total	
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Total Votes	2587	
NATHAN DEAL	2587	100.00%

Election Summary Report Dawson County State of Georgia General Primary July 15, 2008

Date:07/18/08 Time:12:59:16 Page:2 of 4

Summary For Jurisdiction Wide, All Counters, All Races Official and Complete

	Official and Co	mplete	
Registered Voters 12446 - Cards Cast 3225	25.91%	Num. Report Precinct 10 - Num. Reporting 10	100.00%
US HOUSE 9-D		DEM	
		Total	
Number of Precincts		10	100 0 00
Precincts Reporting		10	100.0 %
Total Votes JEFF SCOTT			100.00%
JEH SCOTT		133	100.0076
STATE SENATE 51-R		REP	
		Total	
Number of Precincts		10	100 0 0/
Precincts Reporting Total Votes		2502	100.0 %
CHIP PEARSON (I)			100.00%
L CAM I DANGOTY (1)		2302	100.0078
STATE HOUSE 7-R	· · · · · · · · · · · · · · · · · · ·	REP	
		Total	
Number of Precincts		3	
Precincts Reporting		3	100.0 %
Total Votes		490	
DAVID RALSTON (I)		490	100.00%
CEATE MOLICE OF	**************************************		reliefusium arcelina presion resus
STATE HOUSE 9-R		REP Total	
Number of Precincts		9	
Precincts Reporting		9	100.0 %
Total Votes		2316	
AMOS AMERSON (I)		1356	58.55%
STEVE GOOCH		960	41.45%
JUDGE PROBATE-R		REP Total	
Number of Precincts		10	
Precincts Reporting		10	100.0 %
Total Votes		2952	100,0 70
JENNIFER BURT (I)	······································	2142	72.56%
HENRY YOUNG `		810	27.44%
CLERK SUPERIOR CT-R		REP	
		Total	e de la companya de l
Number of Precincts		10	
Precincts Reporting			100.0 %
Total Votes BECKY V. MCCORD (I)		2664	100.00%
DECKT V. MCCOKD (I)		2004	100.0070

Election Summary Report Dawson County State of Georgia General Primary July 15, 2008

Date:07/18/08 Time:12:59:16 Page:3 of 4

Summary For Jurisdiction Wide, All Counters, All Races Official and Complete

Registered Voters 12446 - Cards Cast 3225 25.91%	Num. Report Precinct 10 - Num. Reporting 10	100.00%
SHERIFF-R	REP	
	Total	100.0 %
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Total Votes	2631	
BILLY CARLISLE (I)	2631	100.00%
TAX COMMISSIONER-R	REP	

	Total		
Number of Precincts	10		0/
Precincts Reporting	10	100.0	%
Total Votes	2571		
LINDA G. TOWNLEY (I)	2571	100.00)%
		78 - 75 - 86 - X	<i>Marke</i>
CLIDAEAOD D	DID		

SURVEYOR-R	REP			
		Total		100
Number of Precincts		10		
Precincts Reporting		10	100.0	%
Total Votes		2441		
FRED C. YOUNGMAN (I)		2441	100.0	0%

CHIEF MAGISTRATE-R	REP			XX V
		Total		
Number of Precincts		10		%
Precincts Reporting		10	100.0	%
Total Votes		2903		
DAN PICHON		479	16.5	0%
LISA A. THURMOND		1697	58.4	6%
MARSHA WALLER		727	25.0	4%

CHAIR COMMISSIONER-R	REP	·
	Total	
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Total Votes	2307	
MIKE BERG (I)	2307	100.009

CC D2-R	REP		
	Total) %
Number of Precincts	10		
Precincts Reporting	10	100.0	1 %
Total Votes	2979		
JAMES C. SWAFFORD	1984	66.6	0%
TERRI TRAGESSER (I)	995	33.4	10%

Election Summary Report Dawson County State of Georgia General Primary July 15, 2008

Date:07/18/08 Time:12:59:16 Page:4 of 4

Summary For Jurisdiction Wide, All Counters, All Races Official and Complete

Num. Report Precinct 10 - Num. Reporting 10 100.00%

CC D4-R	REP		
	Total		%
Number of Precincts	10		1000
Precincts Reporting	10	100.0	%
Total Votes	2892		
JULIE HUGHES NIX (I)	2226	76.97	7%
THAYER SPENCER	666	23.03	3%

BOE D1-R	REP		
	Total		
Number of Precincts	10		
Precincts Reporting	10	100.0	%
Total Votes	2450		
DORIS N. COOK (I)	2450	100.00)%

BOE D2-R	REP	
	Total	
Number of Precincts	10	
Precincts Reporting	10	100.0 %
Total Votes	2461	
ELAINE WILSON (I)	2461	100.00%

BOE D4-R	REP		
	Total		
Number of Precincts	10		1000
Precincts Reporting	10	100.0	
Total Votes	2493		
ROGER D. SLATON (I)	2493	100.00	0%
		5500 Year (ARREA	39500000